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$ + So;
generate successors(s);
if successors(s) NG # ¢ then return success;

update(s);
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5:  add(commit_list, successors(s));
6: while length(commit_list) > n do
7 s « get_max(commit_list);
8: if commit_list = ¢ then return failure;
9: s« get_min(commit_list);
10: goto 2;
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MSC —WA=x((S,0,sq,G))
1: s ¢ s0;
2: generate successors(s);
3. if successors(s) NG # ¢ then return success;
4:  add(commit_list, successors(s));
5: add(closed list, s);
6: while length(commit_list) > n do
7 s « get_max(commit_list);
8 add(openist, s);
9: while length(commit_list) < n and
10: (open_list # ¢) do
11: s « get_min(open_list);
12: add(commit_list, s);
13: if (commit_list = ¢) and (open_list = ¢) then
14: return failure;
15: s « get_min(commit_list);
16: goto 2;
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